Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 7 - Turriff and District

4,963

4

993

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Sandy DUNCAN	Independent	544
Alastair FORSYTH	Scottish National Party (SNP)	1,260
Mike RAWLINS	Independent	324
Anne ROBERTSON	Scottish Liberal Democrats	981
lain TAYLOR	Scottish Conservative and Unionist	1,854
	Total	4,963

Candidate Alastair FORSYTH Elected with 1,260 votes, being in excess of the quota of 993 Candidate Iain TAYLOR Elected with 1,854 votes, being in excess of the quota of 993

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Iain TAYLOR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy DUNCAN	298	0.46440	138.39120
Transfer to Alastair FORSYTH	0	0.00000	0.00000
Transfer to Mike RAWLINS	227	0.46440	105.41880
Transfer to Anne ROBERTSON	739	0.46440	343.19160
Transfer to lain TAYLOR	0	0.00000	0.00000
Value of non-transferable ballot papers			273.99840
	Total		861.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Anne ROBERTSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy DUNCAN	207	0.11615	24.04305
Transfer to Sandy DUNCAN	384	0.25010	96.03840
Transfer to Alastair FORSYTH	0	0.00000	0.00000
Transfer to Mike RAWLINS	219	0.11615	25.43685
Transfer to Mike RAWLINS	236	0.25010	59.02360
Transfer to Anne ROBERTSON	0	0.00000	0.00000
Transfer to Iain TAYLOR	0	0.00000	0.00000
Value of non-transferable ballot papers			126.64970
	Total		331.19160

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Alastair FORSYTH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy DUNCAN	547	0.21190	115.90930
Transfer to Alastair FORSYTH	0	0.00000	0.00000
Transfer to Mike RAWLINS	212	0.21190	44.92280
Transfer to Anne ROBERTSON	0	0.00000	0.00000
Transfer to lain TAYLOR	0	0.00000	0.00000
Value of non-transferable ballot papers			106.16790
	Total		267.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Mike RAWLINS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sandy DUNCAN	121	0.11615	14.05415
Transfer to Sandy DUNCAN	165	0.21190	34.96350
Transfer to Sandy DUNCAN	128	0.25010	32.01280
Transfer to Sandy DUNCAN	131	0.46440	60.83640
Transfer to Sandy DUNCAN	202	1.00000	202.00000
Transfer to Alastair FORSYTH	0	0.00000	0.00000
Transfer to Anne ROBERTSON	0	0.00000	0.00000
Transfer to Iain TAYLOR	0	0.00000	0.00000
Value of non-transferable ballot papers			214.93520
	Total		558.80205